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lEfiz| K % OUT IN GRADCFENET e JEfZ| K % OUT IN GRADCFNET =53
IS 44 | 45 | 89 [23.0 |66.0 | AE BG 36 EZ ¥ 54 | 56 [110 |24.0 |86.0
—JX 45 | 45|90 |18.0 |72.0 | A& 37 |MH &=FE 53 | 56 |109 |23.0 |86.0
tHB= |50 42|92 /17.0|75.0 A& 38 |mH BEF 52 55 107 121.0 |86.0
E 53 | 43 | 96 20.0 |76.0 39 |#% 48 | 56 104 [18.0 |86.0
5 |{EBE E 48 | 46 94 |18.0 | 76.0 40 [/JhR B 56 51 107 20.0 |87.0
6 &Il [E 47 | 50 | 97 |20.0 | 77.0 41 |4 pESE 52 | 63 115 |28.0 |87.0
7 |[RHE EE 44 | 56 100 |23.0 |77.0 42 ¥R FMRF | 57 | 57 114 (26.0 88.0
8 BH HiT 52 | 49 |101 |23.0 |78.0 43 AR BZ 56 | 50 |106 |17.0 |89.0
9 |HE = 49 | 48 | 97 |19.0 |78.0 44 \HeH  H— 54 | 51 |105 |16.0 |89.0
10 | HEa 51 | 50 [101|23.0 |78.0 45 \&F R 53 53 106 /17.0 |89.0
11 Hpfr & 57 | 49 [106 |27.0 | 79.0 46 HE IEC 65 | 53118 [26.0 |92.0
12 |=F mHZ 50 | 48 | 98 |19.0 |79.0 A7 K¥F mfcF | 63 60 123(30.0 93.0
13 /B JTRK 49 | 50 | 99 |20.0 |79.0 48 | REN & 57 | 54 |111 |17.0 |94.0
14 |\ XTI h— 47 | 48 | 95 |16.0 |79.0 49 |5k Z&=A] 62 | 51 (113 |18.0 |95.0
15 R =17 53 | 46 | 99 [19.0 |80.0 50 | AN 58 | 57 |115 |16.0 {99.0
16 )I& = 51 | 47 | 98 |17.0 |81.0 51 |BH MEHE 65 | 51 |116 |16.0 |100.0
17 £ =& 49 | 50 | 99 |18.0 |81.0 52 Ml BSiE 63 | 57 /120 |19.0 |101.0
18 |¥¥H &R 52 | 57 |109 28.0 |81.0 53 |[FH EBEX 56 | 65 121 |17.0 |104.0
19 |FfE M7 55 | 51 [106 |24.0 |82.0
20 |[ZH #EZ 53 | 52 |105 |23.0 |82.0
21 /PR BEiE 50 49|99 17.0 |82.0 e M FE 53 | 55 108 |29.0 |79.0 |#1B40
22 7&K 1ESL 51 | 50 |101 119.0 |82.0 am HE 13 51 55 106 |27.0 |79.0 |#1&0
23 R taz 54 | 55 (109 |27.0 |82.0 ERE RN ASF | 51 4899 [22.0 77.0 H=#& [2024.9]
24 gL B|A 50 | 51 101 [19.0 {82.0 atEm L AR 46 | 50 | 96 123.0 |73.0 |&#& [2024.8]
25 & FI 51 | 53 /104 [22.0 |82.0 akm H EF 55 | 54 1109 [26.0 |83.0 &% [2022.8]
26 XA %K 47 | 55 102 |20.0 |82.0
27 &N Eia 51| 48 | 99 |16.0 |83.0
28 | KRE RFE 47 | 53 /100 |17.0 |83.0
29 [iEK B 54 | 50 [104 |20.0 |84.0
30 |EH HiE 53 | 50 |103 [19.0 |84.0
31 | HK AZE 58 | 56 114 |30.0 |84.0
32 lbEx =2 49 | 52 [101 |17.0 |84.0
33 ‘Bh REX 50 | 52 /102 |17.0 |85.0
34 #HAN = 53 | 49 /102 |16.0 |86.0
35 \TEE XTI 52 | 53 /105 |19.0 |86.0
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